A consumer has income I = 82 and prices of goods X and Y are PX = 2 and

PY = 12. The government is considering two alternative tax/subsidy schemes
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The tax t on good X means that the price of good X becomes PX + t. The subsidy s for

good Y means that the price of good Y becomes PY − s. The income tax T means that

the income becomes I − T.
(a)  Formulate three budget constraints: (1) prior to the introduction of either scheme, (2) under scheme I, (3) under scheme II.
(b)  Draw all three budgets on the same graph.
(c)  Suppose it is known that prior to the introduction of either scheme a consumer purchases less than 5 units of good X. Which of the two schemes is better from theconsumer’s point of view?
